Blancas: Kaspárov. 

                  Negras: Krámnik (1, 3, 9, 11, 13)
                  1 e4 e5 2 Cf3 Cc6 3 Ab5 

Undécima partida: 3 ..a6 4 Aa4 Cf6 5 0-0 b5 

(Krámnik abandona la variante Berlín, en la que, sin duda, Kaspárov le hubiera presionado muy fuerte con alguna receta de laboratorio, y opta por la Modern Archangel variation) 

6 Ab3 Ac5 7 a4 Ab7 8 Cc3 0-0 9 d3 Ca5 10 axb5 Cxb3 11 cxb3 axb5 12 Txa8 Axa8 13 Cxe5 d5 14 Ag5 

(Esta es la novedad que Kaspárov aplicó frente a Shírov en el torneo de Linares de 1998. Antes se había jugado así: 14 Cg4 dxe4 15 Cxf6+ Dxf6 16 dxe4 Td8 17 Dc2 Dg6 18 Ae3 Axe3 19 fxe3 b4 20 Cd5, con pequeña ventaja del blanco, Ivanchuk - Anand, Montecarlo 1995) 

14 ..dxe4 

(Prácticamente sin pensar, Krámnik se lanza al cambio de damas. Así evita las posibles mejoras que Kaspárov pudiera tener de su juego con Shírov. Éste jugó de otra manera, y no tuvo problemas: 14 ..Ae7 15 Cxb5 dxe4 16 dxe4 Axe4 17 Cc3 -en el mismo torneo, Anand jugó 17 Te1, frente a Shírov, pero tampoco logró ventaja suficiente para ganar- 17 ..Ab7 18 Te1 h6 19 Af4 Ab4 20 Cg4 Cxg4 21 Dxg4 Te8 22 Txe8+, tablas) 

15 dxe4 Dxd1 16 Txd1 b4 

(Jugando ambos a toda velocidad, la lucha desemboca en un final interesante. Es obvio que Kaspárov veía buenas posibilidades de victoria, y Krámnik no) 

17 Axf6 

(Se conocía 17 Cd5 Axf2+ 18 Rxf2 Cxe4+ 19 Rg1 Cxg5 20 Cd7 Td8 21 Cxc7 Rh8 22 Cxa8 Txa8 23 Td4 Ta1+ 24 Rf2 Tb1 25 Txb4 Txb2+ 26 Re3 h5 27 h4 Ce6 28 g3 Tg2 29 Rf3 Tb2 30 Re3 Tg2 31 Rf3 Tb2 32 Re3, tablas, Topálov - Shírov, Montecarlo 1997) 

17 ..bxc3 18 bxc3 gxf6 19 Cd7 Ad6 20 Cxf8 Rxf8 21 f3 h5 

(Tarde o temprano, este peón va a ser un objetivo, esté donde esté. El plan de las blancas es crear un peón pasado en el flanco de rey, lo que aumentará considerablemente sus posibilidades de victoria) 

22 h4 

(Esta es la primera ocasión para aplicar el plan Ta1-Ta5, al que Kaspárov aludió después. Por ejemplo: 22 Ta1 Ac6 –o bien 22 ..Ab7- 23 Ta5 Ae5 24 Tc5 Ad7 25 g3 Ae6 26 b4 h4 27 gxh4 Rg7 28 Rg2, con una   posición difícil de evaluar) 

22 ..Re7 23 Rf2 

(Kaspárov se refirió exactamente a esta posición. Pero no es evidente que las blancas ganen, aunque sí parece que mejoran la partida. Por ejemplo: 23 Ta1 Ac6 -o bien 23 ..Ab7- 24 Ta5 Ae5 25 c4 Re6 26 Rf2 f5 27 exf5+ Rxf5 28 Re3 Re6 29 g4 hxg4 30 fxg4) 

23 ..Ab7 24 c4 Ae5 25 Td2 Ac8 26 Td5 Ae6 27 Ta5 c5 28 Re3 Ad4+ 29 Rd3 f5 30 b4 fxe4+ 

(Hay que jugar con precisión porque existen trucos: 30 ..Rd6 31 b5 fxe4+ 32 fxe4 f5 33 e5+ Axe5 -no vale 33 ..Rxe5 por 34 b6, ganando- 34 Ta6+ Rd7 35 Ta7+ Rd6 36 Th7, ganando) 

31 Rxe4 

(Si 31 fxe4 Af2 32 Re2 Ad4 33 bxc5 Axc4+ 34 Rf3 Ae6, tablas) 

31 ..Af2 32 bxc5 Axh4 33 c6 Rd6 34 Txh5 Af2 35 g4 Rxc6 36 Th2 

(Entregar la torre no basta: 36 Th6 Rc5 37 Txe6 fxe6 38 Re5 Ae3 39 Rxe6 Rxc4 40 Re5 Ad4+ 41 Re4 Rc5 42 f4 Ab2, tablas) 

36 ..Ac5 37 Tc2 f6 38 Th2 Axc4 39 Th6 Ad5+ 40 Rf5 Axf3 41 g5 Rd5. Tablas.

Primera, Tercera y Novena partidas: 3 ..Cf6 4 0-0 Cxe4 5 d4 Cd6 

(Krámnik sorprende a Kaspárov con una línea que sólo había jugado dos veces. Una de ellas fue así: 5 ..Ae7 6 dxe5 0-0 7 Te1 d5 8 exd6 Axd6 9 Cbd2 Af5 10 Cc4 Ab4 11 c3 Dxd1 12 Txd1 Ac5 13 Ae3 Ce7 14 Te1 Axe3 15 Cxe3 Cd6 16 Cxf5 Cexf5 17 Aa4 g6 18 Te2 b5 19 Ac2 Tfe8 20 Tae1 Txe2 21 Txe2 a5 22 Te5 b4 23 Tc5 bxc3 24 Txc3 Cb5 25 Tc4 Td8 26 Rf1 Ce7 27 a4 Cd6 28 Txc7 Cd5 29 Tc5 Cb4 30 Ab3 Cd3 31Txa5 Cxb2 32 Td5 Tb8 33 Cd2 Tb6 34 Re2 Ta6 35 Td4 Cb7 36 Ce4 Tb6 37 Ad5 Rg7 38 Rd2 Cd6 39 Cc3 Cf5 40 Tf4 Rf6 41 a5, y el ruso se rindió, Shírov -Krámnik, Linares 1998) 

6 Axc6 dxc6 7dxe5 Cf5 8 Dxd8+ Rxd8 9 Cc3 

Novena y Decimotercera partidas: 9 ..h6 

(Krámnik se adelanta a la previsible novedad de Kaspárov) 

Novena partida: 10 Td1+ Re8 11 h3 a5 12 Af4 Ae6 13 g4 Ce7 14 Cd4 Cd5 15 Cce2 Ac5 

(Novedad. La partida Galkin - Yaróvik, Nóvgorod 1999, continuó con 15 ..h5, pero la apertura de la columna 'h' no fue de ninguna utilidad para las negras, que terminaron perdiendo) 

16 Cxe6 fxe6 17 c4 Cb6 18 b3 a4 19 Ad2 Rf7 20 Ac3 Thd8 

(La posición satisface los gustos de Krámnik: algo inferior, pero muy sólida. A las blancas no les conviene el avance b4 porque daría vida al caballo de b6. De modo que preparan la expansión en el otro flanco) 

21 Txd8 Txd8 22 Rg2 Td3 23 Tc1 g5 

(Evita Cf4 y frena el plan del blanco, que sin embargo continúa vigente. A Kaspárov le quedaban 44 minutos para llegar a la jugada 40; a Krámnik, 66) 

24 Tc2 axb3 

(Hay que estar muy seguro para hacer esta jugada, que abre la columna 'a' para la torre blanca, si bien debilita el peón de b3. La alternativa más sólida era Td1) 

25 axb3 Cd7 26 Ta2 Ae7 

(Una jugada muy profunda, que el ex campeón del mundo Vasily Smyslov, de 79 años, sugirió desde Moscú mientras seguía la partida por Internet. La idea principal es habilitar la casilla c5 para el caballo, lo que también se podía lograr con Af8 -para llevarlo a g7- pero en ese caso la torre blanca daría jaque al                  tomar en c7. La otra posibilidad era muy peligrosa para las negras: 26 ..b5 27 b4 Af8 28 Ta7 Ag7 29 Txc7 bxc4 30 Txc6 Axe5 31 Txc4, con un final probablemente ganador, por el peón pasado y alejado de b4) 

27 Ta7 

(Kaspárov criticó esta jugada en la conferencia de prensa, pero no se ve ninguna que otorgue una ventaja sustancial a las blancas. Por ejemplo: 27 b4 c5 28 b5 Cb6 29 Ta7 Cxc4 30 Txb7 Cb6 31 Aa5 Tb3 32 Axb6 Txb5. Dado que Kaspárov necesitaba ganar, podría haber optado por 27 f3, para controlar e4, pero tras 27 ..b5 28 cxb5 cxb5 29 b4 Cb6, se hubiesen acabado los problemas de las negras) 

27 ..Cc5 28 f3 Cxb3 29 Txb7 Cc1 

(Esto es lo que Kaspárov no había visto. Por el contrario, Krámnik tenía todo muy bien calculado) 

30 Cxc1 Txc3. Tablas.

Decimotercera partida: 10 h3 Ke8 11 Ne4 
(Considering that this Berlin Defence endgame has arisen three times previously in this match, Kasparov spent an astonishing 35 minutes over this move. His 11 Ne4 is actually a novelty although this position has arisen many times in master chess. Previous tries include 11 Ne2, 11 b3, 11 Bf4, 11 Rd1 and 11 Re1.) 

  11 ... c5 

(Kramnik creates the possibility of an annoying knight advance to d4.)
  12 c3 

(Kasparov prevents this but at the cost of a slight weakening of the light squares.)
  12 ... b6 13 Re1 Be6 14 g4 

(Draw agreed Incredibly, bearing in mind his position in the match, Kasparov here offered a draw. At the brief press conference after the game he indicated that there were reasons for his poor performance in the match which he would reveal when it concluded. He also added that having to play White every Sunday, every a hard game on Saturday was very tiring.)
Primera y tercera partidas: 9 ..Ad7 

(Krámnik cambia y probablemente mejora, con respecto a esta otra partida: 9 ..Re8 10 h3 Ce7 11 Te1 Cd5 12 Ce4 Cb4 13 Te2 Af5 14 Cd4 Axe4 15 Txe4 c5 16 a3 cxd4 17 axb4 Axb4 18 Txd4 Ae7 19 Ae3 a6 20 Tad1 h5 21 c3 Td8 22 Txd8+ Axd8 23 f4 f5 24 exf6 Axf6 25 Rf2 g6 26 Rf3 Re7 27 Ad4 Axd4 28 Txd4 a5 29 Td5 b6 30 Re4 a4 31 Te5+ Rf6 32 f5 gxf5+ 33 Txf5+ Rg6 34 Td5 Tf8 35 Re3, tablas, Topálov - Krámnik, Wijk aan Zee 1999) 

10 b3 h6 11 Ab2 Rc8 

Primera partida: 12 h3 b6 13 Tad1 Ce7 

(Aquí está la nueva idea de Krámnik, quien se reserva los planes Ae6-Cd5 o Cg6 y Af5, según lo que haga el blanco, manteniendo una posición sólida) 

14 Ce2 Cg6 15 Ce1 h5 16 Cd3 c5 17 c4 

(Evita el eventual golpe c4 en el momento oportuno y da una buena casilla para un caballo en d5. El alfil de f8 implica ahora un problema de desarrollo) 

17 ..a5 18 a4 h4 

(La posición negra es muy restringida, pero no exenta de recursos, como Th5) 

19 Cc3 Ae6 20 Cd5 Rb7 21 Ce3 Th5 22 Ac3 

(Kaspárov hace jugadas de espera porque el avance natural f4 sería contestado con el plan Ce7-Cf5, sin problemas para las negras) 

22 ..Te8 23 Td2 Rc8 24 f4 Ce7 25 Cf2 Cf5, tablas. No se ve cómo las blancas pueden progresar.

Tercera partida: 12 Tad1 12 ..b6 

(Shírov, con blancas, ganó a Krasénkow este año en Polanica Zdroj tras 12 ..a5 13 h3 b6 14 a4 Ab4 15 Ce2, con un juego muy libre para sus piezas. Siguió: 15...Te8 16 Cf4 g6 17 g4 Cg7 18 Td3 Ce6 19 Cxe6 Axe6 20 Cd4 Ad7 21 Ce2 Ad6 22 f4 f5 23 exd6 Txe2 24 dxc7 Rxc7 25 Ae5+ Rc8 26 Tfd1 Ae6 27 Td6. Krámnik bloquea ahora el centro y fiscaliza la importante casilla d4)

13 Ce2 c5 14 c4 Ac6 

(Si se compara la estructura de piezas de Krámnik con la de Krasénkow, la mejoría es evidente) 

15 Cf4 Rb7 16 Cd5

(Sería prematuro 16 e6 por 16 ..Axf3 17 gxf3 Ad6, y no se ve nada inmediato para las blancas) 

16 ..Ce7 17 Tfe1 Tg8 

(Contra la normal 17 ..Td8 podría seguir 18 Ce3, con una molesta presión. Kramnik proyecta una expansión en el flanco de rey, pero Kaspárov dice con su próxima jugada que eso no le preocupa) 

18 Cf4 g5 19 Ch5 Tg6 20 Cf6 Ag7 

(Otra posibilidad era 20 ..Cf5 21 e6 Ad6 22 exf7 Axf3 23 gxf3 Tf8, y parece que las negras están bien) 

21 Td3 Axf3 22 Txf3 Axf6 23 exf6 Cc6 

(Existía una alternativa fea en apariencia, pero difícil de refutar: 23 ..Cg8 24 Td3 -si 24 g4 Td8; y si 24 Td1 Te8, siempre con la idea de atacar el peón de f6 desde la sexta horizontal) 24 ..Cxf6 25 Te7 Ce8 26 Txf7 Te6 27 h4 Cd6, y todo indica que las negras aguantan) 

24 Td3 Tf8 25 Te4 Rc8 

(La posición negra es pasiva, pero sólida) 

26 f4 gxf4 27 Txf4 Te8 28 Ac3 Te2 29 Tf2 Te4 30 Th3 

(Kaspárov va a por uvas. Podía haber optado por la tranquila 30 h3 Cd4 -mejor que 30 ..Ce5 31 Td5 Cd7 32 Th5 Te6 33 Ad2 Cxf6 34 Txh6, y el peón de h3 sería muy peligroso- 31 Rh2; pero no valía 30 Td5           por 30 ..Cd4 31 Rf1 Tg5. Kaspárov quiere cambiar el peón de f6 por el de h6. Por eso, Krámnik             debilita la estructura blanca en el flanco de dama, con el fin de lograr contrajuego) 

30 ..a5

(Muy bien jugado. Sería mucho peor 30 ..Ce5 31 Tf5 Cg4 32 Tg3 Rd7 33 Tff3, y las negras están casi perdidas por la amenaza h3) 

31 Th5 

(No valía el ataque directo con 31 Ad2 por 31..Ce5 32 Txh6 Txh6 33 Axh6 Cg4, y las negras no pueden perder) 

31 ..a4 32 bxa4 Txc4 33 Ad2 Txa4 34 Txh6 Tg8 

(Aquí está una de las variantes críticas, que merecen un análisis muy profundo: 34 ..Txh6 35 Axh6 c4, y resulta muy difícil saber qué peón es más peligroso. En todo caso, Krámnik no tenía tiempo para calcularlo) 

35 Th7 Txa2 36 Txf7 Ce5 37 Tg7 Tf8 38 h3

(Kaspárov sugirió aquí 38 h4, con grandes complicaciones)

38 ..c4 39 Te7 Cd3 40 f7 Cxf2 41Te8+ Rd7 42 Txf8 Re7

(No vale 42 ..Re6 por 43 Ae3, ganando)

43 Tc8 Rxf7 44 Txc7+ Re6 45 Ae3 Cd1 46 Axb6 c3 47 h4 

(¿Por qué no 47 Rf1, para acercar el rey hacia d2 ó d3?) 

47 ..Ta6 48 Ad4 Ta4 49 Axc3 Cxc3 50 Txc3 Txh4 

(El final es de tablas muertas)

51 Tf3 Th5 52 Rf2 Tg5 53 Tf8 Re5. Tablas.

Blancas: Krámnik

                  Negras: Kaspárov (2)
                  1 d4 Cf6 2 c4 g6 3 Cc3 d5 4 cxd5 Cxd5 5 e4 Cxc3 6 bxc3 Ag7 7 Cf3 c5 8 Ae3 Da5 9 Dd2 Ag4 10 Tb1 a6 

(Georgiev optó por la simplificación general contra Rivas, Plóvdiv 1984, y sufrió un espectacular castigo por parte del gran maestro español: 10 ..Axf3 11 gxf3 cxd4 12 cxd4 Dxd2+ 13 Rxd2 Cc6 14 d5 0-0-0 15 Aa6 bxa6 16 Thc1 Td6 17 Re2 Rc7 18 Ac5 Rd7 19 Tb7+ Rc8 20 Axd6 Rxb7 21 dxc6+ Rb6 22 Axe7 Tc8 23 Ac5+ Rb5 24 Axa7 Txc6 25 a4+, y el búlgaro se rindió) 

11 Txb7 

(Novedad de Krámnik. Las negras no tuvieron ningún problema después de 11 Tb3 b5 12 d5 Cd7 13 c4 b4 14 Dc2 Dc7 Timman - Ivanchuk, Linares 1992, tablas en 42) 

11..Axf3 12 gxf3 Cc6 13 Ac4 0-0 14 0-0 

(Aquí está la clave. Krámnik devuelve el peón a cambio de asegurarse una pequeña ventaja en el final, si se cambian las damas. Y si no se cambian, las blancas cuentan con la pareja de alfiles en una posición abierta) 

14 ..cxd4 15 cxd4 Axd4

(Esto parece lo mejor. Después de 15 ..Dxd2 16 Axd2 Cxd4 -si 16 ..Axd4 17 f4, con ligera ventaja blanca- 17 Rg2 e6 18 Tc1, la posición de las negras es molesta) 

16 Ad5 Ac3 

(Krámnik le sacaba una hora de ventaja a Kaspárov en este momento. Tanto 16 ..Axe3 17 Dxe3, como                  16 ..Dxd2 17 Axd2 Ce5 18 Ah6 e6 19 Axf8 exd5 20 f4, eran favorables al blanco) 

17 Dc1 

(Krámnik invirtió más de 50 minutos en esta decisión, quizá porque no había prestado mucha atención en sus análisis a la última jugada de Kaspárov. Después de 17 De2 Cd4 18 Axd4 Axd4 19 Txe7 Dd8, con el plan Ae5-Dh4, sería muy molesto para las blancas) 

17 ..Cd4 18 Axd4 Axd4 19 Txe7 Ta7 

(Ahora ya no funciona 19 ..Dd8 por 20 Dc7) 

20 Txa7 Axa7 

(El peón de ventaja dista mucho de ser decisivo. Los alfiles corren por casillas de distinto color, lo que ya da contrajuego a las negras, y además hay debilidades en el enroque blanco) 

21 f4 Dd8 22 Dc3 Ab8 

(Mejor que 22 ..Dh4 23 Dg3 Dxg3+ 24 hxg3 Tb8 25 Tc1 Tb2 26 Axf7+ Rg7 27 Ab3 Axf2+ 28 Rg2, con muchas posibilidades de victoria para la blancas) 

23 Df3 Dh4 24 e5 g5

(Kaspárov probablemente pensó que tras 24 ..Tc8 25 Tb1, su posición sería muy delicada) 

25 Te1 Dxf4 26 Dxf4 gxf4 27 e6 fxe6 28 Txe6 Rg7 29 Txa6 Tf5 

(También se podía jugar 29 ..Td8 y 29 ..Tf6. La elegida por Kaspárov tiene la ventaja de forzar el avance del peón a f3, privando al rey blanco de esa casilla, y de entorpecer la buena coordinación de las piezas blancas) 

30 Ae4 Te5 31 f3 Te7 32 a4 Ta7 33 Tb6 Ae5 

(Kaspárov dijo después que tal vez era mejor llevar el alfil a e3. Eso se podía lograr con 33 ..Ac7 34 Tc6 Aa5 35 Rf1 Ad2 36 Re2 Ae3 37 Ac2 Td7 38 Ad3 Ta7 39 Ab5 Td7, aunque es probable que las blancas tengan mejores continuaciones) 

34 Tb4 Td7 35 Rg2 Td2+ 36 Rh3 h5 37 Tb5 Rf6 

(A Kaspárov le quedaban menos de tres minutos para llegar a la jugada 40) 

38 a5 Ta2 39 Tb6+ Re7 

(El error decisivo. Había que jugar 39 ..Rg7 40 a6 Ad4 -apuntando hacia g1- 41 Tg6+ Rf8 42 Ab7, y la posición de las negras sería delicada, dada la debilidad del peón de h5 y el peligro del de a6, pero aún                   defendible) 

40 Ad5, y Kaspárov se rindió. Tras 40 ..Te2 (Si 40 ..Txa5 41 Te6+ Rd7 42 Txe5 Rd6 43 Txh5, ganando) 41 a6 Ad4 42 a7 Ag1 43 Te6+, las negras estarían totalmente perdidas.

Blancas: Krámnik.

                  Negras: Kaspárov (4, 6)
                  1 d4 d5 2 c4 dxc4 3 Cf3 e6 4 e3 c5 5 Axc4 a6 6 0-0 Cf6 

Cuarta partida: 7 dxc5 

(Krámnik opta por una posición tranquila y sin damas)

7..Dxd1 8 Txd1 Axc5 9 Cbd2 Cbd7

(Krámnik ya había jugado diez veces esta anodina variante, con una sola derrota, ante Anand. Entre su víctimas están el propio Anand y Kárpov) 

10 Ae2 b6 11 Cb3 Ae7 12 Cfd4 Ab7 13 f3 0-0 14 e4 Tfc8 15 Ae3 Rf8 16 Cd2 

(Se conocía la partida Baréiev-Rublevski, Elistá 1996, que llegó a un final equilibrado rápidamente: 16 Rf2 Ce5 17 Cd2 Tc7 18 C4b3 Tc6 19 Tac1 Tac8 20 Txc6 Txc6 21 h3 Re8 22 Ad4 Cfd7 23 Tc1 Txc1 24 Cxc1 f6, y fue tablas en la 45)

16 ..Ce5 17 C4b3 Tc6 18 Tac1 Tac8 19 Txc6 Txc6 20 g4 h6 

(La incursión en la segunda fila no es recomendable: 20 ..Tc2 21 Ad4 Ad6 22 Ac3, y la torre está encerrada) 

21 h4 Ac8 22 g5 hxg5 23 hxg5 Cfd7 24 f4 Cg6 25 Cf3 Tc2 

(Una decisión muy arriesgada, y probablemente mala, como parece demostrar lo que sigue. La alternativa era 25 ..Cc5, que da ventaja al blanco, pero menos que en la partida. Por ejemplo: 26 Cbd4 Td6 27 f5 e5 28 fxg6 exd4 29 Txd4 Txd4 30 Axd4 Cxe4 31 gxf7 Rxf7 32 Ce5+, y las piezas blancas son más activas) 

26 Axa6 Axa6 27 Txd7 Txb2 28 Ta7 Ab5 29 f5 exf5 30 exf5 Te2 

(Si 30 ..Ac6 31 Tc7, ganando) 

31 Cfd4 

(¿Por qué? Parece más fuerte 31 Axb6 Ce5 -si 31 ..Cf4 32 Cbd4 Tg2+ 33 Rh1 Ae8 34 Ac7 Tg4 35 Ae5, y la ventaja es casi decisiva- 32 Cfd4 Te1+ 33 Rh2 Ad7 34 Ac5, con mucha ventaja, como propuso Illescas) 

31 ..Te1+ 32 Rf2 Tf1+ 33 Rg2 Ch4+ 34 Rh3 Th1+ 35 Rg4 Ae8 36 Af2 Cg2 37 Ta8 

(Otro momento importante: después de 37 Cf3 Ad6 38 Axb6 Ac6 39 Ca5, no parece que las negras tengan contrajuego suficiente) 

37 ..Tf1 38 Rf3 Ch4+ 

(Error de Kaspárov. Lo correcto era 38 ..Cf4, y no se ve cómo las blancas pueden ganar) 

39 Re2 Th1 40 Cb5 Axg5 41 Cc7 Re7 42 Cxe8 

(Quizá diera menos problemas 42 Txe8+ Rd7 43 Axb6) 

42 ..Cxf5 43 Axb6 Rd7 44 a4 Th3 45 Cc5+ Rc6 46 a5 Te3+ 47 Rd1 Te7 48 Tc8+ Rb5 49 Ce4 

(Innecesario. Después de 49 Cc7+ Rc4 50 C7e6, la ventaja blanca debe ser ganadora porque todas las piezas juegan) 

49..Txe4 50 Tc5+ Ra6 51 Cc7+ Rb7 52 Txf5 Ae3 53 Axe3 Txe3 54 Txf7 Te5 55 a6+ Rb6 56 Txg7 Ta5 57 Rd2 Ta1 58 Rc2 Th1 59 Rb2 

(Última oportunidad. Todo indica que Krámnik ganaba con 59 Tg8, como se ve en estas variantes: A) 59 ..Th2+ 60 Rd3 Th3+ 61 Re4 Th4+ 62 Rf5 Th5+ 63 Rg6 Ta5 64 Tc8 Ra7 -si 64 ..Ta1 65 Cd5+ Ra7 66 Cb4 Ta4 67 Tc4- 65 Rf6 Rb6 66 Re6 Ra7 67 Ta8+ Rb6 68 Rd6; B) 59 ..Ta1 60 Tc8 Ta5 61 Rb3 Ta1 -61 ..Ra7 62 Rb4 Ta1 63 Cb5+ Rb6 64 Tb8+ Rc6 65 a7- 62 Cd5+ Ra7 63 Cb4) 

59 ..Th8 60 Rb3 Tc8 61 a7 Rxa7 62 Rb4 Rb6 63 Cd5+ Ra6 64 Tg6+ Rb7 65 Rb5 Tc1 66 Tg2 Rc8 67 Tg7 Rd8 68 Cf6 Tc7 69 Tg5 Tf7 70 Cd5 Rd7 71 Tg6 Tf1 72 Rc5 Tc1+ 73 Rd4 Td1+ 74 Re5, tablas.

Sexta partida: 7 a4 Cc6 8 De2 cxd4 9 Td1 Ae7 10 exd4 0-0 11 Cc3 Cd5 12 Ab3 Te8 13 h4 

(Esta jugada es probablemente nueva en esta posición, pero la idea ya se había empleado en estructuras similares. Krámnik gana espacio en ambos flancos) 

13 ..Ccb4 14 h5 b6 15 Ce5 Ab7 16 a5 b5 

(Es muy feo ganar un peón con 16..bxa5; entre otras cosas, porque la inmediata 17 Aa4 causa serios problemas) 

17 h6 g6 18 Ce4 Cc7 19 Cc5 Ad5 20 Ta3 Cc6 21 Axd5 Dxd5 22 Ccd7 

(Una maniobra muy fina que aprieta las clavijas al máximo) 

22 ..Tad8 23 Cxc6 Txd7 

(No vale 23 ..Dxc6 por 24 De5, ganando) 

24 Cxe7+ Texe7 25 Tc3 f6 26 Ae3 Rf7 

(Kaspárov elude 26 ..e5 por 27 Dc2, que plantea amenazas molestas. La posición es de doble filo. Si las negras lograsen cambiar las damas en buenas condiciones tendrían un final muy favorable por los peones débiles en h6 y a5. Pero mientras las damas estén en el tablero, el ataque es muy peligroso) 

27 Tdc1 Db7 

(A ambos les quedaban menos de 15 minutos para llegar a la 40) 

28 Tc5 Cd5 29 Df3 

(La amenaza directa es Ag5, para entregar después la torre en d5. Además, las blancas apuntan hacia el peón de a6, con Tc6, y al de h7, con la maniobra Tc8-Ta8) 

29 ..Cb4 30 De2 Tc7 31 Af4 Txc5 32 dxc5 e5

(Kaspárov apaga parte del fuego, pero las blancas tienen ahora un peón pasado, que se añade a la aireada situación del rey negro) 

33 Dd2 Cc6 34 Dd5+ Rf8 35 Ae3 Dd7 36 Df3 Rf7 37 Td1 e4 38 De2 Df5 39 Td6 Te6 40 Td7+ Te7 41 Td6 Te6 42 Dd1 

(Pasado el control de tiempo de la jugada 40, Krámnik vuelve a presionar: la dama apunta a la vez a b3 y al dominio de la columna) 

42 ..g5 43 Dh5+ 

(En lugar de entrar directamente en el camino de la victoria con 43 Td7+, Krámnik vuelve a repetir jugadas para pensarlo mejor) 

43 ..Re7 44 Dd1 Rf7 45 Td7+ Rg6 46 Tg7+ Rxh6 47 Dd7 Te5 48 Df7 Td5 49 Rh1 

(Muy elegante. También se podía jugar 49 Txh7+ Dxh7 50 Dxd5, pero Krámnik va a realizar esa maniobra en condiciones más favorables, porque todas las jugadas de las negras estropean su posición) 

49 ..Cd8 

(No sirve de nada dar jaques: 49 ..Td1+ 50 Rh2 De5+ 51 g3 Df5 52 Axg5+, ganando) 

50 Txh7+ Dxh7 51 Dxd5 Rg6+ 52 Rg1 Dc7 53 Dg8+ Rf5 

(Esta posición debe ser ganadora para las blancas. Pero ¿cómo?) 

54 Dd5+ Rg6 55 Dxe4+ Rg7 56 Da8 Dd7 

(No hay tiempo para capturar en a5. Por ejemplo: 56..Dxa5 57 Db8 Ce6 58 c6) 

57 Rh2 Dd3 58 g3 

(Kaspárov criticó esta jugada, "porque el caballo negro revive". Sin embargo, hace falta tiempo para encontrar una victoria segura de las blancas. Por ejemplo, parece que no sirve 58 Dxa6 por 58 ..Dh7+ 59 Rg3 Dh4+ 60 Rf3 Dh5+ 61 Re4 Dg6+ 62 Rd4 Dc2, y no se ve cómo las blancas pueden evitar el jaque perpetuo) 

58 ..Cf759 Db7 Rg6 60 Dxa6 Ce5 61 Da8 Cg4+ 62 Rh3 Df5 63 Dg8+ Rh6 64 Dh8+ Rg6 65 De8+ Rh6, tablas.

Blancas: Kaspárov.

                  Negras: Krámnik (5, 7)

                  1 c4 c5 2 Cf3 Cf6 

Quinta partida: 3 g3 d5 4 cxd5 Cxd5 

(Kaspárov no había jugado la apertura inglesa en la modalidad clásica desde su duelo contra el programa Deep Blue, en 1997. Sólo en partidas rápidas o exhibiciones de simultáneas) 

5 Ag2 Cc6 6 Cc3 g6 7 0-0 Ag7 8 Da4 Cb6 9 Db5 Cd7 10 d3 

(The players are following the game Garriga-Viaud, correspondence 1978, which went 10...a6 11 Qc4 0-0 12 Be3 Qc7 13 Rac1 b6 14 Qh4 Bb7 with an eventual draw)

10..0-0 11 Ae3 Cd4 12 Axd4 cxd4 13 Ce4 

(We have now reached at a position that has occurred several times before, but with the queen going to b5

via b3 rather than a4. In D.Fiske - R.Bauer, Connecticut Championship 1991, Black tried 13...Rb8

14 Rfc1 a6 15 Qb4 b5 and went on to win. Instead 13...Nb6 has also been tried on a couple of

occasions, when Black has tried 14...Bd7 15 Nxd7 Qxd7 16 Qb3 Bh6 17 a4 and White was ultimately

successful in Podzielny - Heinz-Haves, Germany 1979, while in Palermo - Wexler, Buenos Aires

Championship 1964, the game ended in a draw after 14...e6 15 Rfc1 Qe7 16 a4 Rd8 17 a5 Nd7. Kasparov has given up bishop for knight, but in return he has some pressure on the queenside, particularly the open c-file)

13..Db6 14 a4 a6 15 Dxb6 Cxb6 16 a5 

(Otra manera de atar la posición era 16 Cc5 Cd7 17 Tfc1, pero Kaspárov no quiere que le cambien el caballo) 

16..Cd5 17 Cc5 Td8 18 Cd2 Tb8 19 Cc4 e6 

(No hay más remedio que dejar encerrado el alfil: si 19..Ag4 20 h3 Axe2 21 Tfe1, y el alfil va a ser capturado) 

20 Tfc1 Ah6 21 Tcb1 

(Todo esto tiene poco sentido) 

21 ..Af8 22 Cb3 Ag7 23 Axd5 

(Y esto menos aún. Como el propio Kaspárov reconoció después, creyó que iba a encerrar la torre negra, "en una alucinación") 

23 ..Txd5 24 Cbd2, tablas.

Séptima partida: 3 d4 cxd4 4 Cxd4 a6 5 Cc3 e6 6 g3 Dc7 7 Dd3 Cc6 8 Cxc6 dxc6 9 Ag2 e5 10 0-0 Ae6 11 Ca4, tablas.

Blancas: Krámnik.

                  Negras: Kaspárov (8, 10, 12)
                  1 d4 Cf6 2 c4 e6 3 Cc3 Ab4 4 e3 0-0 5 Ad3 d5 6 Cf3 c5 7 0-0

Décima partida: 7 .. cxd4 

(Kasparov has a very poor record on the black side of 4.e3 variation. He has suffered defeats to Lev Psakhis, Alexander Beliavsky and Ivan Sokolov. Por su parte, Krámnik jugó 4.Dc2 en la octava partida, y no logró ninguna ventaja; incluso estuvo a punto de perder. Last year at Wijk aan Zee Kasparov tried the classical main line with 7...Nc6 8 a3 Bxc3 9 bxc3 Qc7 against Sokolov but was defeated in spectacular fashion.)

8 exd4 dxc4 9 Axc4 b6 10 Ag5 Ab7 11 Te1 Cbd7 12 Tc1 Tc8 13 Db3 Ae7 

(Hay trucos escondidos. Por ejemplo: 13 ..De7 14 Ad5, que dio clara ventaja a las blancas en la partida Browne - Ljubójevic, Tilburg 1978, 1-0 en la 23; otra posición aguda llegaría tras 13 ..Axc3 14 bxc3 Axf3 15 gxf3, con pareja de alfiles a cambio de la mala estructura de peones. Parece que la posición             blanca sería preferible, pero la partida indica que Kaspárov debió elegir esta línea, o al menos tomar en c3) 

14 Axf6 Cxf6 

(Kaspárov dijo que no vio ninguna respuesta aceptable tras 14 ..Axf6 15 Cb5 . De hecho, la posición de las negras sería muy delicada, pero hay un recurso oculto: 15 ..Ta8 16 Cd6 Axf3 -si 16 ..Ac6 17 Cxf7 Txf7 18 Axe6, ganando- 17 Dxf3 De7 -no vale 17 ..Axd4 por 18 Cxf7 Df6 19 Axe6 Dxf3 20 Cg5+ Df7 21 Axf7+ Txf7 22 Cxf7 Rxf7 23 Tc7 Td8 24 Td1, ganando-, y ahora no funciona 18 Cxf7 por 18 ..Tac8 19 Ch6+ gxh6 20 Txe6 Txc4 21Dg4+ Dg7 22 Dxg7+ Axg7 23 Txc4 b5 24 Tc7 Cb6 25 Td6 Cc4 26 Tdd7 Ah8, y las negras se mantienen) 

15 Axe6 fxe6 16 Dxe6+ Rh8 17 Dxe7 Axf3 18 gxf3 Dxd4 19 Cb5 Dxb2 

(Ya se había jugado 19 ..Df4 20 Txc8 Txc8 21 Cd6, Hazai - Danielsen, Valby 1994, 1-0 en la 32) 

20 Txc8 Txc8 21 Cd6 Tb8 

(Kaspárov calculó probablemente esta línea: 21 ..Ta8 22 Cf7+ Rg8 23 Cd8 h6 –si 23 ..Dxa2 24 De8+ - 24 Ce6 Ce8 -no vale 24 ..Ch5 por 25 Db7 Te8 26 Dd5, con mucha ventaja- 25 Te4 Df6 26 Db7, ganando) 

22 Cf7+ Rg8 23 De6 

(Ahora sí se podía defender con 23 Cd8 h6 24 Ce6 Ch5, y las negras aguantan) 

23 ..Tf8 

(A primera vista, las negras se salvan con 23 ..h5 24 Cg5+ Rh8, pero tras 25 Df5 Dxa2 26 Te6 Rg8 27 Rg2 Dd5 28 Dg6 -mucho más fuerte que 28 Txf6 Dxf5 29 Txf5 a5- 28 ..Dd8 29 h4 Df8 -si 29 ..Tb7 30 Ce4, ganando- 30 Txf6 Dxf6 31 Dh7+ Rf8 32 Dh8+ Re7 33 Dxb8, ganando) 

24 Cd8+ Rh8 25 De7, y Kaspárov se rindió. 

Duodécima partida:  7 ..dxc4 8 Bxc4 Nbd7 9 a3 

(In the 1981 USSR Championship Psakhis played 9 Qe2 against Kasparov and went on to win.)

  9 ... cxd4 10 axb4 dxc3 11 bxc3 Qc7 12 Be2

(The original game in this line, Garcia Gonzales - Balashov, Leningrad 1977, went 12...e5 13 c4 b6 14 Bb2 Bb7 15 Qb3 Rfe8 16 Rfd1 a5 17 c5 with an initiative for White on the queenside. If instead of 12 Be2, Kramnik had played 12 Qe2, play could have transposed to the textbook game Polugayevsky - Petrosian, USSR Championship 1961, with 12...a6 13 Bb2 e5 14 e4 Nb6 15 Bd3 Bg4 when Black had completed his development and went on to win. Another playable alternative to 12 Be2 was 12 Qb3, when White was able to develop some queenside pressure after 12...Nb6 13 Be2 e5 14 c4. 

  12 ... Qxc3

(Kasparov thought for more than 45 minutes over this pawn grab, having clearly been surprised by developments so far.)

  13 Ba3

(Played almost instantly. )

  13...Nd5

(At this stage it would appear that White has enough for the sacrificed pawn, but probably no more. )

  14 Qb1 

(Kramnik now has an advantage of over 35 minutes on the clock.) 

  14...Qf6 15 Bd3 h6

(White's two bishops look menacing and Black is still someway behind in development. However, the black position is very solid and will be tough to break down.) 

  16 b5 Rd8 

(Kasparov has only 44 minutes for the remaining 24 moves until the first time control, whereas Kramnik has nearly an hour and a half.) 

  17 Bb2 Qe7 18 Ra4 

(The white rook swings into action. Kramnik now has ideas of Qa1 or Rg4.) 

  18...Nc5 19 Bh7+ Kh8

(At this point many observers were tempted by 20 Rh4, threatening 21 Rxh6. After 20...f6 White has forced a weakening of the black kingside and it may then be time to bring his king's rook into play with 21 Rc1. Although Kasparov may objectively be fine, he faces a difficult defensive task in practice with only 36 minutes remaining  for the next 21 moves.)

  20 Rh4 

(Here 20...Nf6 fails to 21 Bxf6 Qxf6 22 Rf4 and if 22...Qe7 then 23 Ne5 with a devastating attack.) 

  20...f6

(Kramnik has slowed down dramatically over the last few moves and now has 33 minutes left to reach move 40, the same as Kasparov. White is probably considering variations such as 21 Rh5 Bd7 22 Nh4 Be8 23 Ng6+ Bxg6 24 Qxg6 when White's pieces are swarming around the black king, but there is no clear way to break through. He could also try to lever open the black king with 21 g4, but after 21...e5 22 g5 hxg5 White does not have a good discovered check.) 

  21 Rc4 

(Having forced a kingside weakness, the rook returns to the centre. Clearly Kramnik could not find an immediate way to break down Black's king position.)

  21...Bd7 

(Black is now ready to meet 22 Nh4 (threatening Ng6+) with 22...Be8.)

  22 Ba3 b6 23 Be4 a6 

(Black is now trying to activate his rook along the a-file.)

  24 bxa6 Rxa6 25 Bxc5 bxc5 26 Rfc1 Ra5 

(The key question is: Can Kramnik round up the black c-pawn?)

  27 Qb2 

(One idea for White now is Bb1 and Qc2 attempting to take advantage of the weak light squares around the black king. Both players have around 10 minutes each to reach move 40.

  27...Rb5 28 Qa3 Nb6 

(The c-pawn is immune from capture since after 29 Rxc5 Bc6 White has dire problems due to the pin on the c5-rook and his vulnerable back rank. At this stage White's attack has fizzled out and he is struggling to prove any compensation for the pawn.)

  29 R4c3 

(Kramnik now has five minutes and Kasparov seven to reach more 40.)

  29...Rb4 30 Nd2 f5 31 Bf3 

(White could also have tried 31 Rxc5 Rxe4 32 Nxe4 fxe4 when Black has two pieces for a rook but his pawn formation is very ragged.)

  31...Na4 

(31...Rc8 would have kept the tension. After the game move Kramnik is able to liquidate to a drawn position.)

  32 Rxc5 Rb2 33 Nc4 Qxc5 

(Black must exchange queens since 33...Rxf2 fails to 34 Rc8! Draw agreed.)

Octava partida: 4 Dc2 0-0 5 a3 Axc3+ 6 Dxc3 b6 7 Ag5 Ab7 8 f3 h6 9 Ah4 d5 10 e3 Cbd7 11 cxd5 Cxd5 12 Axd8 Cxc3 13 Ah4 Cd5 14 Af2 c5 15 Ab5 Tfd8 16 e4 Cc7 

(Novedad, muy del estilo de Kaspárov, quien había ganado espectacularmente esta posición con las            blancas frente a Krámnik en un torneo de partidas rápidas: 16 ..Ce7 17 Ce2 Ac6 -también se conoce otra partida rápida ente ilustres que continuó con 17 ..cxd4 18 Cxd4 a6 19 Ae2 Cc5 20 b4 Ca4 21 0-0 e5 22 Cb3 Cc3 23 Tfe1 Cxe2+ 24 Txe2 Td6 25 Td2, tablas, Anand - Kárpov, Montecarlo 1999- 18 Aa6 b5 19 a4 bxa4 20 dxc5 Ce5 21 Cd4 Tab8 22 Ag3 f6 23 0-0-0 Rf7 24 f4 Cg4 25 f5 e5 26 Ac4+ Re8 27 Cxc6 Cxc6 28 Txd8+ Rxd8 29 Te1 h5 30 h3 Ch6 31 Td1+ Rc7 32 Td6 Ca5 33 Ad5 Cb3+ 34 Rd1 Cd4 35 Ta6 Txb2 36 Txa7+ Rb8 37 Txa4 Txg2 38 Txd4 Txg3 39 Tb4+ Rc8 40 c6 Cxf5 41 Ae6+ Rc7 42 exf5 Rxc6 43 h4 Rc5 44 Tb7 Tg4 45 Re2 Rc6 46 Ta7 Rb6 47 Td7 Rc5 48 Re3 Rc6 49 Tf7 e4 50 Rd4 Rb6 51 Ad5 Txh4 52 Txg7 Th2 53 Axe4 Td2+ 54 Re3 Td6 55 Th7 Rc5 56 Txh5 Ta6 57 Th2 Ta3+ 58 Rf4 Ta4 59 Tc2+ Rd6 60 Td2+ Re7 61 Td5, y Krámnik abandonó, Torneo Kosmos, Moscú, 1998) 

17 Axd7 Txd7 18 dxc5 f5 19 cxb6 axb6 20 Ce2 

(Tomar en b6 cedería toda la iniciativa a las negras. Por ejemplo: 20 Axb6 fxe4 21 fxe4 Axe4 22 Cf3 Cd5 23 Ac5 Tb7 24 Ad4 Axf3 25 gxf3 e5 26 Ac3 Cxc3 27 bxc3 Tc7, sin problemas)

20 ..fxe4 21 fxe4 Axe4 22 0-0 Td2 

(Dada la presión indirecta sobre g2, las negras ya están bien) 

23 Cc3 Ab7 24 b4 Tf8 25 Ta2 Txa2 26 Cxa2 Cd5 27 Ad4 Ta8 

(Después de 27 ..Cf4 28 Tf2 b5 29 Cc3, las blancas habrían despejado el peligro) 

28 Cc3 

(Se podía jugar 28 Tf3, pero Krámnik había visto que, tras el cambio de caballos y la entrega el peón de a3, el final resultante era de tablas, por la presencia de alfiles que circulan por casillas de diferente color)

28 ..Cxc3 29 Axc3 Txa3 30 Ad4 b5 31 Tf4 Td3 32 Tg4 g5 33 h4 Rf7 34 hxg5 hxg5 35 Rf2 Td2+

(Krámnik no duda en sacrificar otro peón porque el cambio de torres simplifica la defensa) 

36 Re3 Txg2 37 Txg2 Axg2 38 Ae5, tablas. Las negras sólo pueden ganar cambiando el peón de            e6 por el de b4, pero las blancas lo evitan fácilmente, colocando el rey en d4. Si el rey negro penetra entonces por f5-g4-h3, el blanco maniobra por e3 y f2, bloqueando todo progreso.

Blancas: Krámnik.

                  Negras: Kaspárov (14)
1 Nf3 

(Despite his previous successes with 1 d4, Kramnik opts for a quieter opening system.)

  1 ... Nf6 2 c4 b6 3 g3 c5 

(We now have a symmetrical English. This is a system where White usually obtains a small space advantage but the black position is very solid.)

  4 Bg2 Bb7 5 0-0 g6 6 Nc3 Bg7 7 d4 cxd4 8 Qxd4 d6 9 Rd1 Nbd7 10 Be3 Rc8 11 Rac1 0-0 12 Qh4 a6 

(This position, and ones similar to it, are well known in top class chess. It used to be thought that Black, with possibilities of counterplay based on play along the c-file and ... b5, had a perfectly good position. However, a couple of recent games have seen a new idea for White based on Bh3, e.g. 13 b3 Rc7 14 Bh3 Qb8 15 Bh6 Bxf3 16 Bxg7 Kxg7 17 exf3 Ne5 18 Bg2 and White had a small advantage and went on to win in Topalov - Psakhis, Las Vegas 1999.)

  13 Ne1 

(This is a much less adventurous move and one which indicates that Kramnik is intending to play very solidly and is not in a mood for taking the slightest risk today.)

  13 ... Bxg2 14 Nxg2 Re8 15 b3 Qc7 16 Bg5 

(Although he has played unadventurously, Kramnik's position is rock solid. If Kasparov is to have any hope of retaining his World Championship title he has the almost impossible task of trying to stir up trouble in this sterile position.) 

  16 ... Qb7 17 Ne3 b5 

(This is the standard break for Black in this type of position.)

  18 Ned5 

(Black could now give White an isolated pawn by capturing on c4. However this would open up the b-file for White and allow him to activate a rook with Rb1. This, combined with the active placing of his knight on d5, is provide White with perfectly good compensation for the slight weakening of his pawn structure.)

  18 ... bxc4 19 bxc4 h5

(An unexpected move from Kasparov which introduces the possibility of ... Ng4 at some moment cutting the white queen off from the action on the queenside.)

  20 Qf4 Qc6 

(The position is now dynamically balanced with the weakness of  White's c-pawn being balanced by his active pieces. Nevertheless this must be counted as a success for Kasparov as the position is now unbalanced. With the players in danger of running short of time (they both have around half an hour for the next 20 moves) we could still be in for some surprises.)

  21 Bxf6 

(This is a bold strategic decision by Kramnik. After exchanging of his dark-squared bishop he will now be permanently vulnerable on the dark squares. He must have decided that, with his other knight now coming to d5, the continuing activity of his pieces will enable him to hold the balance.)

  21 ... Nxf6 22 Nxf6+ Bxf6 23 Nd5 Bb2

(Kasparov prods the white rook before retreating his bishop.)

  24 Rb1 Bg7 25 Qg5 Kf8

(Black wants to continue with ... e6 at some point but does not want to exchange of his dark squared bishop which he would certainly have to do if he allowed Nf6 to be played with check.)

  26 Rdc1 

(Kramnik defends his loose c-pawn.)

  26 ... e6 27 Nf6 Red8

(Kasparov is beginning to get organised and it looks as if Kramnik's initiative is fizzling out.)

  28 h4 Qa8

(With the threat of ... Rc5)

  29 c5 

(Kramnik now sacrifices a pawn, jettisoning his ugly weakness on c4 in the hope of activating his major pieces.)

  29 ... Rxc5 30 Rxc5 Bxf6

(Kasparov is obliged to give up his good bishop otherwise White can simply recapture on c5.

  31 Qxf6 dxc5

(Black has an extra pawn but the white queen and rook are active.)

  32 Kh2 

(Played in order to avoid back row tricks.)

  32 ... Kg8 

(Kasparov is also keen to tidy up the position of his king. Qh8+ was not currently a threat but it is hard for Black to coordinate his forces while this remains as a possibility.)

  33 Rb6 

(White now has the surprising threat of 34 Rxe6 and after 34 ... fxe6 he gives perpetual check with his queen along the sixth rank.)

  33 ... Re8 

(Kasparov prevents White's threat.)

  34 Qf3 

(Kramnik's main asset in this position is his vigorous rook and so he heads for a pure rook endgame where the activity of this piece will enable him to regain his pawn.)

  34 ... Qxf3 35 exf3 Rc8 

(Kasparov uses the time that White needs to regain his pawn to activate his own passe pawn.)

  36 Rxa6 c4 

(Both players have been handicapped in this game by feeble c-pawns. Now instead Kasparov has a powerc-pawn which forces the white rook to hurry back to defend.)

  37 Rd6 c3 38 Rd1 Ra8 

(Black now wins a pawn by force as if 39 Ra1 Black plays 39 ... c2 and ... Rxa2 next move.)

  39 Rc1 Rxa2 

(Now Kramnik, with only two minutes to play his last move of the first time control, has a very difficult decision. His first possibility is to capture the c-pawn, giving up his own f-pawn and reaching an endgame of rook and four versus rook and rook and three. Normally this endgame is a fairly straightforward draw but here White is forced to play with his king badly cut off. His option is to defend his f-pawn with 40 Kg2 after which Black protects his c-pawn with 40 ... c2.)

  40 Rxc3 Rxf2+  41 Kg1

(White chooses to play with his king cut off on the back rank but 41 Kh3, when his king is stuck on the h-file, was not attractive either.) 

  41 ... Ra2 42 Rc7 

(Althought the white king is cut off on the back rank it seems that this will not prevent him from being able to draw comfortably. White's rook is active and Black will not be able to mobilise his pawn mass without allowing multiple exchanges of pawns which will simplify the position down to an easy draw.)

  42 ... Kf8 

(It is worth mentioning that Kasparov himself recently lost the endgame of rook and four versus rook and three against the Dutch grandmaster Jeroen Piket. However, that game was played at speed time limits and Piket's position, although not winning, gave more opportunties for play than Kasparov's does here.)

  43 Rb7 Ke8  44 Rb8+ Ke7 45 Rb7+ Kf6 46 Kf1 e5 47 Rb6+ Kf5 48 Rb7 Ke6 49 Rb6+ Kf5 50 Rb7 f6 51 Rg7 g5 

(This is Black's only way to try to make progress.)

  52 hxg5 fxg5 53 Rg8 g4 54 Rf8+ Ke6 55 Re8+ Kf5 56 Rf8+ Kg6 57 Rg8+ Kf5 

(Draw agreed. At the press conference afterwards Kasparov was asked if he could still save the match. He said that it was possible but admitted that the chances must be minimal. Kramnik said that he was pleased to make a draw today as this obviously brought him closer to victory in the match. However, he also said that the fact that a draw was a good result for him in this game had affected his play and that consequently he had made some 'strange decisions'.)

Blancas: Krámnik.

                  Negras: Kaspárov (15 y última)
1 d4 Nf6 2 c4 e6 3 g3 d5 4 Bg2 Be7 5 Nf3 0-0 6 0-0 dxc4 7 Qc2 a6 8 Qxc4 b5 9 Qc2 Bb7 10 Bd2 Be4 11 Qc1 Bb7 12 Bf4 

(In one of his numerous World Championship games played against his great rival from the eighties Anatoly Karpov, Kasparov here played 12 Be3 but after 12 ... Nd5 13 Nc3 Nd7 14 Rd1 the game was quickly drawn.) 

  12 ... Bd6 13 Nbd2 

(In this variation White is not concerned about the possibility of Black capturing on f4. After 13 ... Bxf4 14 gxf4 White has strengthened his centre and created a useful open g-file against the black king.)

  13 ... Nbd7 14 Nb3 Bd5 15 Rd1 Qe7 

(At his stage Kasparov is well ahead on the clock, having used only 20 minutes against Kramnik's 50.)

  16 Ne5 Bxg2 17 Kxg2 Nd5 

(White has a tiny pull in this position thanks to the slight weakness in Black's queenside. Black has a backward pawn on c7 and White has a useful open file to press against this weak spot. There are also some other vulnerable squares in the black position such as c5, c6 and a5.)

  18 Nc6 Nxf4+ 19 Qxf4 

(The fact that the black queen is threatened allows White to make this recapture. Now 19 ... Bxf4 loses to 20 Nxe7+.)

  19 ... Qe8 20 Qf3 e5

(This is the natural freeing break for Black in this position.)

  21 dxe5 Nxe5 22 Nxe5 Qxe5 23 Rd2 

(Despite the fact that White has lost some central control he nevertheless retains a small advantage. This is based on his pawn majority on the kingside which in the long run he will hope to activate. Meanwhile Black will want to make further piece exchanges by, for example, bring his rooks to the d-file. White may manoeuvre his knight to c6 in order to impede this plan.)

  23 ... Rae8 

(Kramnik places his forces in the centre to hamper White's plans to advance there. However, Black must also be careful about White probing on the queenside with a2-a4 after which his queenside pawns could become vulnerable. All in all White retains a small edge.) 

  24 e3 Re6 25 Rad1 Rf6 26 Qd5 Qe8 

(Perhaps surprisingly, in view of the fact that he wants to simplify the position, Kramnik avoids the exchange of queens. However if the queens do come off it may well favour White who can then advance his kingside pawns without fear of his king becoming uncomfortably exposed. Kasparov is now down to 20 minutes for the next 14 moves, while Kramnik has 27 minutes.)

  27 Rc1 

(Creating the possibility of Rc6, attacking Black's a-pawn.)

  27 ... g6 

(Kramnik prevents this threat (28 Rc6 Rf5 wins) and creates some space for his king.)

  28 Rdc2 

(Reintroducing the idea of Rc6 as now the white rook would be defended by its colleague on c1 and thus ... Rf5 becomes less of a worry.)

  28 ... h5 

(Kasparov is now getting short of time. He has 12 minutes for the next 12 moves while Kramnik has 20.)

  29 Nd2 Rf5 30 Qe4 c5 31 Qxe8 Rxe8 32 e4 

(Kasparov has engineered the exchange of queens in what he must judge are favourable circumstances. He is now planning to advance on the kingside with f2-f4.)

  32 ... Rfe5 33 f4 R5e6 34 e5 Be7 

(And not 34 ... Bf8 when 35 Ne4 wins a pawn to the dual threats of Nf6+ and Nxc5.)

  35 b3 

(White prevents the black c-pawn from advancing with ...c5-c4 and keeps it on c5 as a target.)

  35 ... f6 

(Black tries to free his kingside.)

  36 Nf3 fxe5 37 Nxe5 Rd8 38 h4 Rd5 Draw agreed. 

(Congratulations to Vladimir Kramnik - the new world champion ! At the press conference after the game Kasparov indicated that he felt that, although he had not been outplayed during the match he had been completely out-prepared. He said that he had become exhausted during the match due to having to spend ten hours a day rebuilding his opening repertoire. However, Kramnik chipped in at this point indicating that he felt this was a subjective viewpoint as he had also felt during the match that he had no good openings. Kasparov pointed to opportunities he had missed during the match, identifying in particular games 3, 12 and 14. He said that he had been horrified to discover that he had a technically winning position at the conclusion of game 14 when a draw by threefold repetition occurred. Kasparov said he felt he still had plenty of chess strength and was waiting to find out from Brain Games how he would be able to get a shot at regaining the title.)

